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Body )

Hodnotenie: 20 bodov za D.U. + 20 bodov zo skisky.

Pocet bodov Hodnotenie
40 — 35 bodov A
34 — 29 bodov B
28 — 23 bodov C
22 — 18 bodov D
17 — 12 bodov E

<12 bodov Fx
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NajlacnejSia kostra a Union Find
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Transponovanie matice
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void transpose_row(vector<vector<int>> &m) {
int N = m.size();
for (int i=0; i<N; ++i)
for (int j=i+1; j<N; ++j)
swap(m[i] [j], m[j][i1);
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void transpose_block(vector<vector<int>> &m) {
int N = m.size();
int B = 64;
for (int k=0; k<N; k+=B) {
for (int i=k; i<k+B && i<N; ++i)
for (int j=k+1; j<k+B && j<N; ++j)
swap(m[i] [j], m[j1[i]);
for (int 1=k+B; 1<N; 1+=B)
for (int i=k; i<k+B && i<N; ++i)
for (int j=1; j<1+B && j<N; ++j)
swap(m[i]l [j1, m[j1[i]);
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void transpose_block2(vector<vector<int>> &m) {

int N = m.size();
int B = 4;
int B2 = 1040;
for (int x=0; x<N; x+=B2) {
for (int k=x; k<x+B2 && k<N; k+=B) {
for (int i=k; i<k+B && i<N; ++i)
for (int j=k+1; j<k+B && j<N; ++j)
swap(m[i] [j]1, m[jI1[i]1);
for (int 1=k+B; 1<x+B2 && 1<N; 1+=B)
for (int i=k; i<k+B && i<N; ++i)
for (int j=1; j<1+B && j<N; ++j)
swap(m([i] [j], m[j][i]);
}
for (int y=x+B2; y<N; y+=B2)
for (int k=x; k<x+B2 && k<N; k+=B)
for (int l=y; 1<y+B2 && 1<N; 1+=B)
for (int i=k; i<k+B && i<N; ++i)

for (int j=1; j<1+B && j<N; ++j)

swap(m[i] [j], m[jI[i]1);
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void transpose_rec(const int N, vector<vector<int>> &m,
int n, int i0, int jO, int il, int j1) {
if (n <=4) {
if (10==j0) {
for (int i=1i0; i<iO+n && i<N; ++i)
for (int j=i+1; j<iO+n && j<N; ++j)
swap(m[i] [j1, m[j1[il);
} else {
for (int i=i0, jj=j1; i<iO+n && i<N && jj<N; ++i, ++jj)
for (int j=jO, ii=il; j<jO+n && j<N && ii<N; ++j, ++ii)
swap(m[i] [j]1, m[ii]l [j3i1);
}
} else {
int h = n/2;
transpose_rec(N, m, h, i0, jO, i1, j1);
transpose_rec(N, m, n-h, iO+h, jO+h, il+h, ji+h);
transpose_rec(N, m, n-h, iO+h, jO, il, ji+h);
}
}
transpose_rec(N, m, N, 0, 0, 0, 0);
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Main Memory

Block0
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Memory Size = 16Kbytes
Memory Block Size = 4 bytes
Cache Size = 256 bytes
Block Size = 4 bytes
Associativity= 1

Number of Sets = 64
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